F4E /NYFTAF BF1000m

20164E1 A16H

EF g PE BA L | B 248 EF R S AL | JEfL
EIE- N FE4E 127740 3 EHES ] IR ER/N 6% 142”80 3
& B0 & RS hS4 1725780 2 F B X8 SEINER 54 1742761 1
£ | XH #Hzh |[BEeEiR R | 1725759] 1 2 |ER EA PEATRER/N 54 1743726 5
B |BE Kih IR R SR e 130”15 4 % R K& TR ER/N 54 1742"74] 2
B R e oY ZiE B |BEAR B2 | KBIER 54 155”53 7
# KIR g | FEDER s 1735”59 6 5 BR & Fx D NIEUN 4% 1742783 4
x* WA B»E HEKXFFER | h2EE| 1734794 5 % |RIE KB [RET/INER 4% 1749724 6
=P B 7R
3% EF g FE AA L | B 4#R #EF i S AL | B
B |[#R =& BRI IR/ 6% 153”78 7 B /Mgt & EINTENER | 65 1'59”07| 3
| RIE TH [RET/INERR 64 1749”51 1 # 812 E PENE A 6% 2°08729| 8
2 BE 0D YRR AR/ 5% 1'51738| 4 £ X% BX PEAREER/N 54 1756797| 1
& |RAE ERK YEARERER/N 54 1'51760| 5 B Mg B PR AR/ 5% 158748 2
' T &R PEAREEER N 4% 150”43 2 ' |58 BE B /R 4% 2'05"32] 6
5 | FH BE RERmNER | 45 1753748 6 = [1EH EE IHEINFRR 4% 2°01"55| 5
X ER EK TSR/ 3% 151701 3 # (Al ERE HEMER 3% 2'01746| 4
Bk B KE IRARERED /N 2% 2'07"74| 7
548 EF FilE HE AL | B 6% | EF i HE AL | B
EERIR PR TSR/ 5% 2°15"83] 1 B [EE &4 ESIT e B4 ZiE
o | THI [RET/NERR 5% 2'18"39| 3 7 |%=@A &3 BERINER 54 3'01"85| 5
£ |#F AR ESiCI-E- TN 445 FiE £ |FW FEX BN 54 2'43754| 2
% |5 5 JbER RN 34 2’19”79| 5 % iz TE IERTEER /N 4% 259”91 4
' EE 5T IR 3F ZiE B | KE R RINNER 3% 2'35"87) 1
B KR EE FaR/NER | 3F 2'15"88| 2 5 |BWM FiK HREE/NEAR 3% 2'52"24| 3
* | TRl 8% [RET/INERR 3% 219734 4 L . g 34 E-d
B | &S S RN 3%F 2'24"88 6 B RS BEE JeEE SR/ 2% 311"84] 6

BERRT—MER EHR



